< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

..........

..........

....................................

(k=]

[—=— DQM_VUUUI_RUUUU000UT__Global__1
—e— DQM_V0001_R000000001__Global
—— DQM_V0001_R000000001__Global
—— DOM_V0001_R000000001__Global

-1 0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

o
N

................

.............................

..............................

il

it

3 -2 -1

O R TR T

1 2 3
TP n (PCA to beamline)

CMSSW _CKTPUSU__RECU
CMSSW_| mkFltPUSOLothQuad RECO
—_ CMSSW_LowptQnoSC_REC

CMSSW _LowptQnoDC RECO

100r

A o ©
o O O
[TTTTTee

20+

..................

..................

-1 0 1 2 3

: e
i
il A4
g i
LA
'é"' ----------
A I 1 Y P P I P 1 P 1 Y O P
%l 1 D

! IT 1 :

10 1 23
TP n (PCA to beamline)

= 100

...........

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


